SAP ABAP table IDSAU TD S ATMN {Asset transactions # main structure}
ANKA

IDSAU TD_S ATMN-ANLKL = ANKA-ANLKL . [MANDT [CLNT (3)]
~ -~~~ 77 |ANLKL [CHAR (8)]

- ANLA
e MANDT [CLNT (3)]

- BUKRS [CHAR (4)]
IDSAU_TD_S_ATMN-ANLN2 = ANLA-ANLN2 o 7 | ANLNI [CHAR (12)]

- ANLN2 [CHAR (4)]
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- MANDT [CLNT (3)]
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0:N_IDSAU TD S ATMN-ORD4X = T087-ORD4X 0..N | MANDT [CLNT (3)]
e BUKRS [CHAR (4)]

el T087
- _IDSAU_TD_S_ATMN-BWASL = TABW-BWASL (. |MANDT [CLNT (3)]
o ORDNR [CHAR (1)]
el ORD4X [CHAR (4)]

el TABW
0..N | MANDT [CLNT (3)]
BWASL [CHAR (3)]




